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PREUR: Witk 100mLx1 3, 4CHERLF.
RF—: Witk 2mLx1 i, 4CHEHRAT.
RA . WK 2mix1 32, 4°CHRTE.
WA=: Wifk 2mix1 32, 4 CTHRTES
R Wifk 6mix1 i, 4CHRAF.
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1. M BEEE (2): REURAR(mLA 1: 5710 FIELF] GEHRENZ 0.1g, A 1mL $2HUBD A
PR, A1 HRIEE R 1mL, ERIEHERIE S _EE Y 5min, T 25°C, 5000g &> 10min, HX
FJEE .

2. M. HIRAREEE (104 REAR (mL) A 500~1000: 1 FIELET (Y 500 A4 1mL
UG, VKA A0 (Zh2E 300w, #B75 3 #p, [FK® 7 0, GBI 3min) ETENERIE SIS L
E% Smin, T 25°C, 5000g &:C» 10min, B EEME.

3. IiE: B 0.AmL, i 0.9mL 3REUGK, WERIIES] EE 5min, F 25°C, 5000g &0 10min, H_EJZi
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FIMRA), TEAS /6 L, ToKOEFHZE, %E 530nm ALBOBE, id)y A X RE
AAMER, AA=ANEE-ASTHRE,

WEAN:

a. AMEAEEELINEMHEARITT

FrofEi2k: y=0.22x + 0.0065 R? = 0.9978

1. &H’&E HiTH

VE &8 (pg/mgprot) = (AA-0.0065) +0.22xV i+ (V FExCpr)

=9.09x (AA-0.0065) =+ Cpr
2. %l ’E’:ffﬂi)ﬁgfr%ﬁ

VE &8 (ug/g) = (AA-0.0065) +0.22xV i+ (V FExW=V FEED
=9.09x (AA-0.0065) +W

Mg =T

(ug/10% cell) = (AA-0.0065) +0.22xV [+ (V BEx4H v BEED

=9.09x (AA-0.0065) + IR

HHHUJI
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4. ZREARAEIR T
VE &8 (ug/mL) = (AA-0.0065) +0.22xV 2 H+V #x10
=90.9x (AA-0.0065)
VR PR, 0.2mL; VEE: IIAEEARERL, 0.amL; vV EEE: IIARBGRAEE, 1mL; Cpr: AWK

B, mg/mL; W: FEAJRE, g
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b. F 96 FM M IHEARIMT
FrEMIZE: y = 0.11x + 0.0065 R2 = 0.9978
1. HREATETHE
VE &8 (ug/mgprot) = (AA-0.0065) +0.11xV 2+ (V FExCpr)
=18.18x (AA-0.0065) + Cpr
2. IBFEARETE
VE S8 (ug/g) = (AA-0.0065) +0.11xV [+ (V EExW=V FEED
=18.18x (AA-0.0065) +W
3. B EE T
v E4E (ug/10%cel) = (AA-0.0065) +0.11xV i+ (V FEx4H &V FELD
=18.18x (AA-0.0065) + A%
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4. TR B
VE &8 (ug/mL) = (AA-0.0065) +0.11xV 2 S+V ¥Ex10
=181.8x (/AA-0.0065)
VSR BEARER, 0.2mLs VAR IIAREARARL, 0.amL; VEEE: IIANIRBURAR, 1mL; Cpr: AWK
B, mg/mL; W: FEARTIR, g

ERE:
FiR AR R AEDRE, TR T E L ROARE, IR A S SR AR RS2



